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The figures in the margin indicate full marks
Jor the questions

1. Answer the following as directed (any ten) :
1x10=10

TS fHANARA o Sepif Sed ot (R it wedt)
(a) The property of a proposition is truth/
validity.

( Choose the correct answer )

P B (R TSI / @S |
(®% Teh! AR Sfersat )
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(2 )

(b) “Logic is concerned primarily  with
argument forms and secondarily with
argument.” Is this statement true?

"SR A e
PTGt
TSI 15 700 S 1 a2 B oy

(c) Which term is distributed
proposition?

in an ‘O’

(d) What is. the symbolic form of universal
affirmative proposition?

SR 4 619 AT @i [59

(e) Can an ‘A’ i
)\ proposition b
Simply? € converted

"A’WWWWW?

‘ !
(f) Whlclh two terms are present in the minor’
premise of a syllogism? ;

<bl R 1 S o &
Y S 9| R ShitRa

(g) ‘W’hjch type of opposition is there between
E. and ‘I" propositions accordi
Aristotelian logic?

G
T SRS WP B wre o
&S 5 139 RAaie sig?
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( Continued )

(h) An immediate inference has one/two/
three premises.
( Choose the correct answer )

NI SIS @Bt / ol / TofDr S <o

YT |
(wm SeI Ay Sferedt )

(i) Syllogism is an immediate inference/

mediate inference.
( Choose the correct answer )

[ QO Sigs [/ g S |
(=g Gt AR Sfredl )

(j) The predicate of the conclusion of a

syllogism is called

( Fill in the blank )

<O o P Ruw e @ e[l

= |
(A iR s T )

(k) “‘In an inductive inference, the conclusion
cannot be more general than the
premises.”’ Is the statement true?

) ST S PTarE! SRRl
QR e 23 @ERE |’ @2 S0 T ?
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( 4 )

1 :
) Is th_e syllogism valid, when both th
premises are negative? :

Q31 <6t e v
cofonl D! 2y o Twdf w7,

gure i i :
mood. " Which DARTL is a valid

DARI f§ 5
it | Hwhﬂi%ymﬂmﬁm

(n) State the position of the middle term j
in
the Fourth figure of a syllogism

T DR AT R T D B

(o) The First fi
gure of syllogism j
as _____ figure. yllogism is also called

( Fll in the blank )

TR S AR :
el Y R e conr

(090 OR ot 1 )

(p) Ho i
W many circles are to be drawn to test

the validity of
a .
diagram? syllogism through Venn

mmﬁmqmw
9 3
CWWQQWWWOWﬁ‘ﬁW
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( Continued )

(g) What is the symbol used for ‘belongs to’
in set theory?

ezl wge ‘TEEE quaEl aSwd! 52

(r) Symbolize the given proposition by means
of set notation :
No Americans are philosophers.
e om0 e O TS TPl
34l :
I SR = |

2. Answer the following questions (any five) :
2x5=10

e it eppEd Sed ot (R it <foe) :

(a) What is formal truth?
e el IFE 6 3@ ?

(b) State two differences between deduction

and induction.
1o S e TS 4t 7ot #Aie ford |

(c) What are the two important conditions of
a valid argument?

a4 3fe ot @t 56 e fe?
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(6)

(e) Define particular affj

(f)

(g) Write the names of foy

(h)

(i)

0

A23/454

. .

] MY o9 WiE e
o bt SPTY) Pl St Bt

. rmative pr iti
with the help of ap €xample g

qmmﬂmﬁmmwmwﬁml

What i 3
1S meant by ‘mood’ of 4 syllogism?

TR IS et s qmro

First figure of syllogism G

Wﬁwvfﬁmﬁrﬁmhw&&;wm|

Give example
middle.

Wﬁﬁﬁ[:%@@ﬁqu

: Fallacy of undistributed

State any two rules of syllogism

wﬁmzﬁﬁw%@aw:

State two methods of re
sets.

?fﬁi‘@ﬁmmﬁwwiﬁwﬁsmw|

Presentation of

( Continueq )

3. Answer the following questions (any four) :
5x4=20

(a) Distinguish between deductive and induc-

(b)

(c)

tive arguments.

R IE S SRR Jed JEe A0
spefey forefa w4t

How many figures are there in a syllogism?
Ilustrate the figures of a syllogism in linear

form

TR AR @17 RIbEd TRIEE RN
FLRRRY! Ard T
What is simplification of propositions?
Simplify the following sentences into
logical form (any three) :
a5 TR e R e ? el -
@5 o wRE e F (| e
oot :
(i) All good authors are not good
speakers.
A ©lF G ©fF I8! T4 |
(ii) Only the intelligent persons can pass
the examination.

T e Jerr @ Arwe Sa
T3 A

( Turn Over )
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5 ( )
(iii) Most of the students are honest. 4. Answer. the ol four}l:o 4=40
o=
ARTel 293 Ae | were fim eppTpza ©ed ot (R el oif )
(iv) Wise persons are always revered. fa). Whatis anjareumentl B
@ e e s | between argument and argument form.
e Iw 2 e e eI AR T
(d) What is the middle term? What is the role i
of the middle term in a syllogism?  2+3=5 (b) Write an essay on the relation ‘between
@D 7 A 52 9Bt TS @ i g o9 e
ool Wi CREeI =<9 R a3f o1 forsit |
(e) What _d.o you mean by opposition of (c) What is a syllogism? Briefly explain the
proposition?

fallacies of syllogism.

B Rt e &6 e | TR Wi 692 DI IR 40 D01 4 |

(d) What is conversion? Define conversion by

(f) State the special rules of the Third figure ;
negation. State the rules of conversion.

of a syllogism.

2+2+6=10
THI PO AZE e ﬁmimgq
Kl TR S S T R0 FEeee s i |
S0 : Wﬁq ]ﬁijﬂﬂiji @iﬁﬁ |
(g) Distinguish between immediate and i i3 . bl
mediate inference. (e) Explain the square of opposition with the
TG SE G S e AN frfy help of diagram.
all ' | e o7t 59 RATRH <0 g1 41 |

(f) Tlustrate AEIO propositions with the help
of Venn diagram. '

W#mﬁmﬁmﬁm%mwl C\F{WWAEIOWWW|

(h) State the special rules of the Fourth figure.

( Turn Over )
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(g)

(h)
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(R )

( 10 )
(i) What is set? Explain with examples how
What is venn diagram? Explain the the traditional AEIO propositions are
method of testing the validity of an symbolized with the help of set notations.
argun.u:nt by using the Venn diagrammatic Feafs Wi 62 29[S AEIO 3¢ 7e2fe
technique. o RS @S ASP W,
& 57 J1e @2 o7 g orwfe sfwe I TSI IR 4
&1 ot frefa a1 it e w4t
() What is operation of sets in set theory?
Prove the validity of the following Explain various operations ofscts.
arguments using the Venn diagrammatic sRefeege FEfed afem W 67 TRR(OOTT
technique : 5+5=10 fRiSw aifewt T 40
T 50 +rafs awet sR il 3fe @@
g =1 -
: * % %k
(i) All mathematicians are wise.
All philosophers are mathematicians-
- All philosophers are wise.
TR olfvow = W@ |
TR w2 sfew |
- R e i@
(i) All Indians are patriots.
Some patriots are not social reformers:
- Some social reformers are not Indians-
T SRS 2 ezt |
| M CPICefiis =y st -7 |
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